
−2.5

0.0

2.5

5.0

HG* HS LS* RT V*
Habitat

N
R

I

−2.5

0.0

2.5

5.0

HG HS LS* RT V*
Habitat

N
R

I

−2.5

0.0

2.5

5.0

HG* HS* LS* RT* V*
Habitat

N
R

I

−2

−1

0

1

2

3

HG* HS LS* RT V*
Habitat

N
T

I

−2

−1

0

1

2

3

HG* HS* LS* RT* V*
Habitat

N
T

I

−2

−1

0

1

2

3

HG* HS* LS* RT V*
Habitat

N
T

I

Method

Barcode

CRY

(a) (b) (c)

(d) (e) (f)

a

b

c

c

c

a

b

b,c

c

c

a,b

b,c

b

c

a

a

c

b

b

b,c

a

a,b
a

b,c
c

a a a a b

a a
a

b
b

a a a a b

aa,b
bb

c


